Problem C

Volleyball Championship
Source file: volley.c, volley.cc, volley.pas

Problem

Every year on occasion of celebration the anniversary of the foundation of the village Cracked Splinter, the Cracked Splinter Championship (CPC) takes place. It is well-known event and each citizen deems it for a great honour to take a part in CPC as a player. The best players were distributed into teams and the games might start. Protesting voices appeared in recent years, saying that the selected players aren’t the best ones and why couldn’t also the others take part?

     The mayor of Cracked Splinter came up with Salmonian solution. All of those interested has to be uniformly spread on the meadow. Then the position of the playground was randomly selected. Those who were standing on the playground (also on its borders) may take part in CPC as players, the others only as onlookers. This kind of selection was acceptable for everyone. Since then the atmosphere in Cracked Splinter is peaceful again.

Input

The first line of input (from standard input) consists of the numbers R1x, R1y, R2x, R2y, R3x, R3y, R4x, R4y representing corners of the playground (it’s rectangle). In the second line is the number of those interested in taking part as players (N). Then N lines follow. Each of them consists of co-ordinates of citizen number i (1 ( i ( N) Cix a Ciy. The south-western corner of the meadow is (0; 0). The north-eastern corner has the co-ordinates (100; 100). There is living 4823 citizens in Cracked Splinter.

Output

In the first line will be the text "Players of the first team:" (without quotes). Then N1 lines will follow. In each of them will be the number of citizen (in increasing order), who belongs to the first team. The first team is composed of citizens standing on the part of the playground closer to the southern edge of meadow.  In case that both halves are at a same distance from the southern edge of meadow, the first team consists of people standing on the western part of playground.

     In the next line will be the text "Players of the second team:" (without quotes). N2 lines will follow. In each of them will be the number of citizen (in increasing order), who belongs to the second team.

     In the next line will be the text "Onlookers:" (without quotes). Then O lines will follow. In each of them will be the number of citizen (in increasing order), who belongs neither to the first nor to the second team and thus he is just an onlooker.

     Assume that no one stands on the net. The net is parallel to the shorter borders of playground and divides it into two equal rectangles.
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Sample Output

Players of the first team:

4

Players of the second team:

1

3

Onlookers:

2

